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Unit-I
Chemical Substances

TgFffi sr+ (Multiple Choice Questions)
r. t'o fto{q ara fu.are.o} fidr or tor t, geor pH drn-

i) r ii) z iii) 5 iv) 10

z. r+t t co g.ffirff 3fiffir{s t-
i) Na2O ii) A12O3 iii) MgO iv) SO2

a. sfu-qf,r ffi it se-fr vfuq flg t-
D s\Rqq il) qqfrfr-qq iiD fr-@ri iv) dtRrqq

+. err+c rirsr or nqrqB-6 qI t-
i) NaCl ii)Na2CO3.10H2O iii) NaHCO3 iv) CaOCl2

5.qqdt d 3i@ at e-fft vrqq6u eIft t-
D sds ii) &Tn-+tq iiD ts<tfi-r ir)r+t t oE q-S

o orfu of ri+qonT +fr t-
i) z ii) + iii) s iv) o

z. vo mp-fto q"o t-
D tki{ 3ntu ii) vHar}tul iii)tuqrn iv) s+t t tFH l-€i

s. frt{ fl qrerqFro {, t-
1) CH4 ii) C2H6 iii) C4Hlo iv) C3H3

e. Fe2O3+2A1 -+AlzO:fu-s ror< o1 GTftfrqr t-
D rid-s{ iD ffif,{ iiD fu{erl-q iv) Efuetm

1q. mRrqq tl|g srg t.Tt' 6{i w ffiqc d vrq fr'q'r o-{fr B', {s fr-qr { q+ i'srq
EtqT-

i) MgO iD Mg(OH)z iii) Na2o iv) MgCl2
rr. Rriqn co ETrg offis t, s-s tTrg or rfi-o t-

D Al ii) Ag iii) Cu iv) Hg
rz. Mw i olrerffi t aEil d fld {.6i rq ii o.nqr-

i) qrqrg $qr d atq fr iD Gi,ffi crd d m'q d
iiD Rqrg rqflq d qrq t iv) rct t of$ T€t

13. 3rtr s em o1 erftfu-qr ol oa uror t-
i) vqfl{ ii) erq++r' iii) \'+SflEI iv) vcr$-fi-+r'r

r+. tS qrg fusol ffienio 6rri yft{ d orv t fi oq t-
i) SEqq ii) vqBFzrn iiD fti.n iv) frtuqq

1s. T{sfr i-dt t Tr-sfr oqr eqfi o1 cfuiT E€S-qftwq a-f,drfr i, gs roq t c-gffi

s-dw t-
i) Ni/Pd ii) MnO2 iii) KMnOa iv) K2Cr2O7

I



eft ag st-tq cr{ (Very Short Answer type Questions)
1. rTrgoii (metals) d d q)ft6 x"t ftfuq t

z. fuqq fl rmrqft-o' qr ftfor t

3. rrrrndr irrr c{ E-.r er+el (liquid state) ti qI-S qri arff ug (metal) ot qH q c-ftm

fttolt
4. Tlrrndr dFI rN (.I elqerT (liquid state) t q-fr EIi orft atlrg (non metal) oI qlq s

rfro fufucr
s orfq d d sTc-{sqi (allotropes of Carbon) d <tq ftfuc t

o ifuiq d-o (Baking Soda) or iTHIqfto qa ftfuv t

z. vo r{Eq aan v6 3trr{K ErqMI (saturated and unsaturated hydrocarbon) or crr
tutuct

a. onurcro*or (Malleability) fttfi tr-di t?
s. f+gd of sqffuo Eqrd-o. (the best conductor) ut-g otr fr t?
ro. gfi crffto (natural) ael vo ghn (artificial) qzro (indicator) ot crq qf,r$g 

t

rr. dt of urg al r{amrr (corrosion) t ilqri d fuq ss w ff-o at q-t-o q.ad o1 qBiql qqr

66-dr-fi t?
rz. pH or qtrs (range of pH) fu-a-+ *oi t?
ra. fusrs or rrgfr'o u\-a aqr B?

14. q{fi' (indicator) frtt o.-6i df \ro sEr6{ur Afr\ t

1s. 'utgv de (ductile)alfr dt' gs oq-a al qqr eftqrq t?
16. sf,n< (product) ai qfuTrft-fl o1ftilt?

rz. ssflcffi orftfu-ql (Endothermic reactions) fr* a-{d t?
rs. glrqqff ofi-trt{s (Amphoteric Oxides) ol s<rel"T io-t ffigrqg?

rg. tq (Gang) frtt 6di d?

zo. ffiono c.slPt fttt 6di E?

zr. dt t e-ft cEdt 6) ri.tTR"T (corrosion) t Tqr+ d ;1 sqrq car{g I

zz. ffi ET{Mq (saturated hydrocarbon) ft,fr zr-6i t?
zs. \'d{ d ftc s-qr6-q lffi (homogeneous series) oT sFIrdI qI CnH2n*2 t, qs' ffi d

dlst dfto o.r qmrqfum'qe a+r.*n?
z+. vt$o-qq (Anodisation) fut 6-dA B?

25.6jw q$e d ft'f,q-{ it d}t of otf, ereri w lqaqc mT iq cdi qca qrm t?
zo. sTffid sTftfrqr (Thermit reaction) tr+ t?
zz. trdq-sfl{ 3lftfuqT (Chlor-Base reaction) ot sq-flq ftfo\?
za. ft\iq6 qoi (Bleaching powder) 51 q-s;qft5 g* ftfuv t

dg trf,ftq cl.t (Short Answer type Questions)
1. ggftf,{uT (Esterification) fr+ tn-6d B? geii d B-qdnT fi ftfuc t

z. ffiw slftfr'qT (Redox reactions) al vsril"r td gq Hqsrgc t

o. flo-ge,rfun (Rancidity) fu-S 6-{i t?



4. lrfr-{f,r ffi (Reactivity series) t TqI drsd t? gs d,ff qn q-drfr .qfu-q oerl sc$ oq
E qpi-d tTrg zrr qrq fi frfuC t

s. w ardB-o dffit of rirqqr E{r{g-
gr- qsH$fi erq (Ethanoic acid) q- frqq (Propane) !s- +rH.-d (Methanol)

6. sfi-6-roT rigfr( dfug-
i) Mg+HzO-+Mg(OH)z+Hz
iD Al + HCI + AlCl3 + H2

z. Frqfrfua gfrf,{vrt d ls-gfu'd dfuq-
i) NaOH+ H2SO4+Na2SOa +H2O

ii) Fe + H2O -) Fe3O4 + H2

s dt qrq o-ifi (d-q-d qrsiqfuo Hqoyq Aft\)
oT- te)-+{6 erq t Ves (Esters from Ethanoic acid)
q- qaHa t qQH{6 erq (Ethanoic acid from Ethanol)

s. 3iilr ftfuc-
eF ,rd-c q ftsqq (Roasting and Calcination)
q- qqq \d M€ (Soaps and Detergents)

ro. engfto orrdd ft'qq (Modem Periodic Law) rw t? fid 3lrsd qrsoft (long form
periodic table) t frtri 3Trrd sir fu-ili HT6 B?

r. VffitfuqI (Aqua regia) a+r B?

12. 6I{uI qdEg-

,- Sfu* q +tRr+q *n$Tt dt d-tfu{ it qqt gqYf,i rqf d?
q- 3Trqftfi dfui d rrdqi-6 G ffi'{{io (melting and boiling points) va dir t, s-qi?

13. Tqr drf,r t u-e? (d+a rTflqft'o qfi-f,rur ftfuq)-
o{- frE{c ET$q{ odie a.rd fu-qT qrcr Br
q- Ens{ ds nRH'qa d B-qr o-Eor tl

r+. srgff-oqoT (Saponification) ft* oet t? 3Tftfrqr ti gv erereV r

rs. fic rf,i X,Y,Z A gdqift-o fuqs.+n fri.ri t-
x-2 Y-2,6 Z-2,8,2
o) o)< vr re 6si en+d or scs B?

u) oYr vr re Esi q1a or rie B?
.r) atr w n-e erorrei[ qTd 6T !ffis t?

f{Ed B-f,tq uw (Long Answer Type Questions)
1. oTftr{FI (Oxidation) Tq sqq-q-r (Reduction) eftfuqrcit oi s-qrflq tf,{ srsr{g I

2. Er{9rs-fi6tuT (Hydrogenation) or r+t sTftcrq t? qfl rtr.q or eMIFrdF'sqdrq eqr t?
s. sqrffq +M (Homogeneous series) ft-fr o-rtr t? \-d-{, cot{ f,efi vorrq d ftc

qrqrq q, ft ftfuqt
+. €eTR"r (Corrosion) t cqr vrsi B? urgdi et $$risr t q-q'fi d Tql-?fi scrq t?
5. sttqqqflI (Isomerism) * erq qq qq{i t? qtq A *iqrfuf, lrqrqa.ft +mf o1 rirn-rT

e-{r$g I



6. ft\issr nof (Bleaching Powder) Tni a1 frtr xrsrqR"o Hfi-dt T tfr gs ftfuv t rs-d
sqq\rr fi ftfuq l

z. sqnifi (Endothermic) G utcle\fr (Exothermic) eTftfurcii of v<rer"r ti gv

sqgr$g I

a. ffia (Micelle) p1 ffiq sfu, qqsr{q 
I

s. Ftqfufua dMt 6T qrrf,{ur dfug-
ot- CH:CHzCI e- CzHsOH v- CH3COOH E- CzHz

ro. ffifue d ft-qdT qflEq-

oT- ortr sfs arrro'(Acid and Base)

E- riEq e nivqw at{gr6dq (Saturated and Unsaturated Hydrocarbon)
rr. sq dmi 01 frqqfl e-{r{q-

q- qrf+d\ fric (Cyclo Propane) q- t:dc-d (Hexanal)

s- i:+{ (Hepane) E- qdti-q& (Chloro-Butane)
rz. Frqftfuo d or<q ftfuc-

er- orfq A qtMt at riqr erq aqi d df4-6i t o€i erfu6 B, cqtZ

"- 
g* HCI rls ft.eqs. qs oi€ clTro TS sffift, srit?

13. gq qlftqii o1 {eqn fuS q-{q-rT (Electron dot structure) e-qgq-
q- Er{frs{ rHEs'r{s (Hydrogen Sulphide) q- gttrd \-@iEiid (Ethil Alcohol)

1+. eF Efuerqq fr-+t 16o1161. displacement reaction) o) vsrd{q qR-o scsr$c t

q- orr+d t qin t q{zt qd q{ q{qrg fuqr s-fi qrfi t, qqt?

rs. fu-qrso vX6r (funtional groups) fu-n a-dd t? fri .ri frqruo qX6t d flq ftfoI-
-CHO -OH -COOH >CO

Unit- [
World of Living

e-gf4-6-dq sll{ (Multiple Choice Questions)
I otRror afr s--st Tcr t-

(D ArP (ii) RNA (iii) DNA (iv) ADP
z t'ff-t * Xa or ger+,ovtr etor t-

(i) {C-f, t (ii) Ttr t (ii| srqrvrq t (iv) lxmu t
s. ftq f, t dt{ S srifu-o fuqr t-

(i) tu€-rT (ii) a1r+ (iii) fo-rr (iv) qa-o sq-m-ir
q. qfuq ol sqfr Er.cI qrq *dr t-

(i)eqtus (ii ) ergqtuq (iii )+gffifiEituT (iv )rct t of{ T$
s. eintcr riT&s"r frqT tt u-gm r€t *fr-

(i)ffiq-{ (ii)orfr-sr{ sfffirrs(iii)tir s-qf (iv)qrf5ftq
o. yoftit gw vrn uri t-

(i)s{S tT (ii)fqrad (iii) rrgq i (iv)emsa ii



7. rrjq q or-sRrqi ot €qr 6tfi t-
(i) so GD A (iii) ff{ (iv) ar<

8. affm.r rgq d ftts 6, g qqRrd t-
(i) B-tr-dr (ii) qRqEq (iii) qNlT (iv) r+e-t

g. t'r&c qqaq"r o-{dl B-
(D d-<-6 (ii)qE-Nrq (iii) mafrTlq (iv) qrgffiF-gql

ro. qkq t qri qti t-
(i)rnftq o-o-o (ii)*iffi uco (iii) tituot o-ao (iv) w-ttm wfi

11 <l dBfiT d qq erfr ern oi f,di d-
(D gfr6r (ii)frfiq (iiD rdr (iv) efiilT

rz. gwftfu aepri o1 tisrFrft @r fu'{rd frql-
(D M + (ii)srffia; (iii) En e frq i (iv) ttu go i

13. q5q ar ss6 eiq B-
(i) g-tr (ii) uqn (iii) erar (iv) srQ-m wft

r+. gtr rd-+ srfrf, +dI B-
(Drtr-{rTns rtu t (ii)OW q.tu t (iii) ersrs qRT t (iv) qErqrq rtu t

15. ?DlErrurr{ rtq ssq o{i qrd fiq or crq t-
(Dwrq+frq'q (ii)61B* (iii) ffi+qr (iv) sc.t t ot€ TS

ufr ag vt-tq crt (Very Short Answer type Questions)
r. ra-e* qlff (gastric glands) o-d crfr qrfr t?
z. ora *iffi uco (liquid connective tissue) d <\ s-fl-eqq fufoi t

g. qo0offo (ATP) oen qo0offo (ADP) oT qu lrl ftM t

+. $ovcoso (DNA) a+r for B?

s. qfuq (Brain) p1 att vt,rnr gtr flslt FRq sfu or d< t?
o. tfuo fu-qrrfi o.r frqToT nft{ o.r otc qt sir'6{dr t?
z. .r,i ffiqa; q\fudi (contraceptive pills) t st{ t dd-.H' qrn qri B?

I {geit lt Tqq.it (chromosomes) at €qr fr-rfi drfi t?
s. d .1.1Es fti,T ftqf{sr (sex determination) t oi$ Tfr-6T Tfr f{'Tri B, s€ eq 6{i B?

to. qs iYR qrqi qre zia ot crc {frr{t t

rr. rm rrtq d ei-<{ o-d w ffis{ 3r-q{tfr-d orar B?

rz. d qrsq eirr (analogous organs) s d sqqm ei.li (homologous organs) d <rt
frMr

13. atr vr rqnq erd of qrdq $o'{ d e-{ddT i?
14. rrFrrr yrft{ afi se-S q'S erf,:qrft qfu (sndocrine gland) di{ S t?
rs. dt ii cd qri sTd A qBd s-o-di (complex tissues) d crq ftTM t

ro. rgfuc enqro (Insulin shock) ftrS 6-6i t?
17. flr{dorgft-{ (Cytokinin) or 5u ord eur t?
ra. r+o'i i frqur (nutrition) fo-s frfu gm dot t?



1e. +6t TfiI cR'i{T{ur (double blood circulation) or orei se a1M t

zo orfq ffid-ffir{s 6qri ftd qqt srf,fi t?
zr. ftfqq (fertilization) o\ qfo+rR"a atfui t

22. gss delr d t qt qri il-d dft6 Erdq (sex hormones) di{-ot{ t t?
23. vFr{isfl gE (population growth) w fr{i7ul aqi erqrqo t?
z+. d-q lcors (evolution) ffi o-{i B?

25. ftflYq (fossil) fr* o-6d B?

zo wgeil t qmrq'F-6 saqq (chemical coordination) dfr +dl B?

,r. qq f+ors q,t srqT{rld ss{ril TqT g?

za. fi{ (Genes) oEi furd *i t? flo1imqfto ffi wt d-fr B?

zg. qia \ifu{ oFroETt (White Blood Corpulscles) d yffir eT dft-+' di a-{t t?
30. q-tFm (Pollination) d ftd d scgffi qTrot d crq ftm t

dg vtrtq sr+ (Short Answer type Questions)
1 frqq (nutrition) o1 q.Rqrqr fiftri r fs-+t dt{-ot{ S ft'fuqi t?
2 ffi sasq (animal respiration) Vq qrfl q+sq (plant respiration) t fi-r 3rfl{ frM t

a. aaffifi G q{d-ff (saprophyte and parasite) t erct fuM t

q. dtii fi CftE-d{ (double fertilization) ot quf{ o1ftri I

s. 3Tr*+{ gffi qrm (iodised salt) ot c'S,T Tq't etrsrs-6 t?
6. trqfi, frm G dRr6r (artery, vein and capillary) d etrf,{ ftRrd t

7. E;NisI gE (populationgrowth) t di sIfr 
"R 

EIffi ft@l
a. fiW rrfu Gituitarygland) t qrfud Eti qrd dd-{ d crq fuMt
s. ftc dan fr&c t Tqr sq+T B? we o1ftrlt
10. sTqlil dan qTs-q {rqcr (homologous and analogous structure) t er;cn e-f,r{i t

11. iltr.F c-q;rc (sexual reproduction) a} cmf, atfut t

rz ugeii i; 5aqrq (respiration) ftmi ron ot *tr t?
13.3rtftErfi ffit (involuntary actions) si cffi ffii (reversible actions) go Wi t

flo-s u-on ftq +ff d?

14. {gq d +qo (human liver) d gur ord t?
rs. d.ritq Tq \qr{q (hormones and enzymes) t er<-q q-f,r$ 

t

f{Ed B-fltq uw (Long Answer Type Questions)
1. qiFIYI rirdqq (Photosynthesis) fr* h-{i B? {s+t fuqFfrE or qdq o1M I

2. dq f{firfl (Evolution) nsn qlftf,{ur (Classification) or em-m ei, fo-s. ror{ q{q{
eqRrf, B?

3. qmq yrft{ d qri qd srfr rgu errn:urfi qftr+i (endocrine glands) d ltq.. v{t erf{d

di Er-e d.it+ (hormones) ow v+d ord ot ffi 66tr,
4. odft6 s+q (asexual reproduction) o1 ftft< ldMi + qt ii fufui t

s. dtit t gtr (growth) 6i $Trfua 6G sT-d ftft-{ 6r{6t 6'I quiq otfrr} t



6. q"rq srce{ (reproductive health) t eilc rqr sc-flfr t? qfutrri tqsa a1M t

7. {gq A crd{ iir (digestive system) qtT qfu, ffi 66q,
a. ongiRrodT (heredity) fu-s 6-{i t? {t yqrfr.d o{i srd ugu on rt or e-ds o1M t

s. sfu{ (blood) rqr t? Esd *ivet (composition) or quf-q otRil} t

10. qgq d strd-{ ria (excretory system) ot sfua ffi qAftt,
rr. 1'.c-{'(AIDS) trr d 6f*F, inrcn o1 r+r+qT inn rrqrr d scdi 6T q{q o1ftil}l
12. qgq tt fti.r fiqf-iq (sex determination) fo-s q-d'R *flI t? fr-qd quf-{ atfrr} I

ra. dBor o)Rror (nerve cell) +t *ir+qr e-n{n t tihor dMl ft,ai nox of *fr il An-
s-mntdeRn{f,rg}t

14. qr{q qkq (Human Brain) at ri{f,{r r{r{t derT ssd qFrt d rgs ord E.r ffi
atffi r

rs. ddi ti ffifun qEnfr a qfr+rc (transportation) fu-s rox +dT B? s"fq o1fu'n-

el- va (water) q- sfuq (mineral) v- tirqc (food)

Unit-il
Effects of Current

eEffi srt (Multiple Choice Questions)
r. ft"qd'cFRtq 6 5.1 qsq t-

i.3itq ii. +€ iii. Sq-fict iv. tfu-qs
z. tgo unu or qrro t-

i. qmq ii. tfu{r iii. q}e iv. oilc

s. ftirqff,{ oi qq qrat t-
i. +€ q-e{ ii. srfict iii. dr€ iv. tfuqs

+ fe.rqrf,{ fie ql Er{r qff fu-ot qnr t-
i. V=w/Q ii. v:Q/W iii. V:RI iv. V=W

s. fugo wfu or qa t'-
i. p: v 2/R ii. p=vxl 1i1.1q 2 iv. p=wxR

o r ftndrqre wr* ri-or B-
i. 1000 watt ii. 100 watt iii. 1100 watt iv. 500 watt

z. w fr;atqre qE-er wrq{ frflr t-
i. 3.6 x106J ii. 3.6 xl05J iii. 3.5 xl06J iv. 3.9 xl06J

s. slqqRqq t u-gm emr +fr t-
i. A.C ii. D.C iii. AC q D.C iv. sqi to,i{ T€t

s. qr{r d irFFr rnfltr d u-gw on d-ff t-
i. ffiq ii. r{Fqq iii. Htir iv. d-fi

ro. fugo dr-e{ ftq.ord t t o-{fr t-
i.ffSo qqf 6i qrhfi $qf q {<-cr<n ii. qrfu-6 uqf of fugf, 6qi q cef,<rr

iii. fuq( u.qf 6) gE-+lq s-st t ceacr r iv. oi$ rff t



oft ag st-ftq gq-{ (Very Short Answer type euestions)
1. q-rin'dq' (Ohm) of cfuTrRd o1ftdr
z. frfrre vffiu (specific resistance) or qra-o ftM t

a. fl+go qe or ft;arte fo-s urg or e-cT +f,T t?
+. 9o qdr oilAyT frrili {ffi ii ffirt qTayr d ge s}-ar B?

s. ft"ga qfra (electric generator) or gw ord r+r tz
6. qr{f, t gofro qqrg of engfu r+r t?
z. frga vqo (electric fuse) fo-r q<rri oT q-qrqr qrdr B?

B. M.c.B6rWclqfuMt
e. sr+{+ (Dynamo) oT cgs ord q-arg$ 

r

ro. qR qolfto dr$q o1 enfi so Hz B n) sfi Sw t m erq-fi ftsTr fuil-ff err cea-ft t?
1 1. go v fr''Erffi (potential difference) d d rfgoTt d fi-s r c oilan 6'r d sH n ftrd-{r

ord fu-qT qror t?
rz. frq d ftqq (Ohm's law) or cRcrr urtq rfl$r
13. q$ffn ol qrq 6K fi+qq (Fleming's left hand rule) ftM t

ra. gwot+ &t tsrcii (magnetic field lines) o1 frMt frM r

ts. via gfuivi (devices) ar qrq ftm, mt {QrT'ff geo (permanent magnet) or sqdrq
fuqr sror tl

ro. ft-ga d on crq' oir< e sqffF-qc'd e-a1 rn Br qrii?

17. qrdo d vfrriM (resistance of conductor) d $irfud o-ri sra orrfii d crq ftM r

18. T6 6 O ymq an oi a'fe o{ dgrr or ftqr qrar t dr flr irl rrn yffitr eqr *fl?
1e. f{9f, erRr or iilTq yqpq (heating effect) a+r t?
zo. gofro erm SoSo o* g sqfr.ft *fi t r eit?

dg st-ftq uw (Short Answer type Questions)
t. ftgo ufta (electric generator) or sfua ffi 56q 

'2. ED-s gqm (bar magnet) a fr"gd gq6 (electric magnet) { e+<q corq} r

a. ft'ga fre< (electric motor) o1 r+qT TrT{E t

4. 2 a,3 o iTer 6 o d fi{ cffitti 6) fu-s s-flr {dfud 6$ fu ea cftrtEr q od r

s. ft.ga gq-ds nirr a ftd sRTg d ft-qq Garaday law for electro-magnetic induction)
frffir

o utq M d alti d Hril<R m-q (parallel circuit) q ffi d eqr aFT t?
z tga farfl (glectric potential) aen furqrrr (potential difference) t er.nq ss dfug r

8. fr€ #fl aen oTfi-ey d cRcer t fu-s s-6r{ riqifu-d fuqT qnr t ei'-< eqf
g. ffifuc tqd er-qqq) (electric components) d frq qRqsT rfto (circuit symbols)

q-d-r{i-
.rLr. {Idr ii. qdT fuq iii. c.Friqm.nT{

ro tga sqordi of Tfq-{ (earthing of electrical appliances) ori d ar{ frfori r



frd sf,ftq rrt (Long Answer type Questions)
r. Frqfrfua w ftqot ftM-

sr- fte um(D.C current) q- c-qr+ff emr(A.C current) s- cfrtqf,dT(Resistivity)
2 ffifu6 i erffi ftM-

sT- rAfHrr ot sl&q 6tr q ilq EH ft-qq (Fleming's right hand and left hand rule)
q- Sofro q \oqfto qft{ at fu-qr frfu (D.C and A.C generator working methods)

s. Frqfufua ol ee atffi-
er- dftq oqr erfti-ftq qrm6
q- qRrqrfr qffioor or EE A Hqt{ a[{6I{

a qffiol (solenoid)d onq s-d-q.Cqds ela a1 e1-gqT dftq,
s. ffi erd d qe qq s v slk soomA eifu-a t, d sn o1M-

er- crfu (Power) q- cfutEI (Resistsnce)
q- + qot sori trs qq s-ef (energy used by bulb after 4 hours)

o. dq ot ftqq (Qhm's law) a+ i? rsor qfdft-o ssrq{ 6-G d ft! sqrflor frffit
z. ft'qo qrfu (electric power) qqT i? S{-d frC ais-6t al erqqT otm t

8. ztEro d cmq (resistance of conductor) a yrTrltrd o-{i qrd orrqii (factors) or ft-qr
quh anfuc r

s g<oto etd 3Trqft'qi (magnetic field pattems) Tqr d? qrsqr$ sriloi Erqr ssq ft-q
srqftqt or qui{ fufrr}t

ro. frgn trqq (electric motor) a1 rqcl s fu-fi-frfu 6T quf{ otm I

Unit-IV
Light

1. ortrdFr Eqrr at qo-ot B-qt a6ail $tm-fl Efr f tt sq+r elor t-
i. FR ii. FR/2 iii. R:fl2 iv. R:f/4

z. Mn I q-dm of qrg ffr B-
i. 2.9979xlotd' ii. 2.9970 tlotd' iii. g.sxtotdt iv. 3.8 "1otdt

s. d-{ d snqfc oT qq t-
i. m=-vlu ii. m:v/u iii. m:u/v iv. m= *v/u

+. frt or erq-q-&{i6 i-
i.2.42 ii.2.52 iii. 3.5 iv. I

5. slrrrdr g-s 6 ftqerr ft-g +dT t-
i.50 cm ii.25 cm iii.28 cm iv. 100 cm

o. oiq d ff-q t r+rcl A ftdc.r rR cTK rnf, {.rt t s-e-t sc{ wq r,T E}-dT t-
i.ara ii.+dr iii.ffi iv. fi-qr

7. gr5Tcr A q"fftq t wq-€ oq fuq-.r{ qrdT i,r't-
i. ors ii. ff-dr iii. fufr iv. ffor



B. yo qk a) ernrq t wE r.di d ftl qec s'TTrfr o) ie t zs tff. t 6Tht qft w rocr
qqor t, tre frBd B-
i. wr qqEol ii. ft6e Etu ds iii. Ad Etu ds iv. ri1ft5flfq<

e. qrrdET Eqq EI{r eqr sftfrq Etdr B-
i. qrwfr-o q €qr ii. qrwfuo q set iii. onr{r$ olk ftrT iv. enqr$ ds s€l

ro. ols o1 .,6 61 go€ t-
i. ft--i ii. dAfrl{ iii. Ei-qq iv. rtr*ba

ufr ag w+tq crt (Very Short Answer type Questions)
1. {rki?r E{ET ElrI qqr qfrftq (image) d-€T d-dT t?
2. Vfi sqia sqrT Ertr scq 3Tr{er{ (magnihcation) +1 t, q*rmr rfl etrcrq t?
3. oTq-+fl{i6 (refractive index) or q*o (unit) fuM t

+. d'* of errot (power of lens) ot qn-o q+t t?
s. Et or oTqdil{io z.+z B, gs ?Eq-q oT aqr olrt B?

6. sqdEl <duv 1r1*. mirror) of qifi-s qft (focal length) frffi *fr t?
7. rrFrcl ia (human eye) i flo-s IFErs 6I ftq qfql qm B?

B. aitktEl <{u1 1"orr"uu. minor) ot \'fi sqq}ir' frfuS t

s. vs rmq <dur 1roh..i.ul mirror) oi crc ftm, fuTt qrfffuo ge' oios d-or t?
ro. q@i at t-s dT{e n rgtna <{vr otr'*T EId'r t?
rr. qqq erq{+{io (absolute refractive index) aor t?
rz. qrrd sffiT{ (lateral inversion) frtt a-dA t?
rs. Eq M d fuc d offi o1 oiltr*rfi-flT Tq'i El-ff B?

14. qntr ia i qffir (iris) or gw ord tmr i?
15. qlrrrq te A frc wE Efu (clear vision) an =g+ar E$ a+r B?

ro. qr-Efu dv (hlpermetropia) d ftqRUT d ftr fu-fl rox d dtq or c-frq fu-qr orot t?
17. ortkr?r <fq 1.on uu. mirror) d d scq}Ir q-dl$t 

t

ra. alrr 6T qr ftfuv t

1e. fr].<-vr <qur, qq or ei-s da (small)ow emn$ (virtual) cfdRq e-drdr t?
zo. fo-s als 6T onqf{ qtq r t oq d-ct t?
zr. ds o1 qmnr (curvature of the l6ns) ii cMr t ffi qMr d qror t?
zz. tEcr (retina) w qq fl efrfrq dflr qror t?
zs. qIiq{ (accommodation) aor B?

24.qt Efu dv (Hypermetropia) or E+t onq t?
zs. eTfqffi ts (magniffing lens) fr* o-er qrcr t?
zo. gw mto-s (main focus) oft e-o'Rflq' dq (optical center) * fra of {fr d rqT odi t?
zr. v< lrl or qrrqf{ (reflection of light) ft;s F{i d?

28. qiFRI d fu-s r,T 6l ft-qf,q (deviation)w+S oq oer fo-s iq ot s+t 3Tfu6 fdr B?

zg. fu-s ds ol GTFr€Tfi ritv (convergent lens) odi d?

so. +d oT olrq-f,{ 6I ft-qq ($nsll's law of refraction) ftfuq t



31 Ts rirfiq <dur 1rr1r..i.ul mirror) al qo-or Bqr 25 tfro B. {s-ft1 st'{-s (fi (focal

length) aot e}ff?

ez. vo tq of yrFm -4.0 D t, gs d-+ o1 e-{Fr rqT drft?

as. d-g of sfl-q\-Gfi errrdl (accommodation power) or cqr erftcrq t?
s+. <{or qr (mirror formula) ftfuC f,sn u-g<i rful *, ,*i fi <-ar$( |

35. "IEr 
or sq-dfi{ifi (refractive index) r.ea t I {q ?5eFI ot eqr' 3lftcrq t?

go. S&q d fu-s r,T or fu+im s{S slfu6 q fu-sor sc-} oc *d'r t?
37. vs <dq qrT qrrl trf,rq\ d fte or enqffio oerl (enlarged and erect image)

cfl wdt
38. yfi olrrcrEr EduT Em scq 3TrqEf{ (magnification) +2 B, {q' irerq qfl q-ot otEcru' t?

dg sirfu crt (Short Answer type Questions)
1. oiq d D-q' em vic q-6pr + frelc"T (dispersion) of sfuqT or fue e-iTti t

z. se dfuc fu et ftHftErt B, sqfo q-6 Tfi, q?it?

3. smq ie (human eye ) o1 rictlql q-{r$ 
|

4. 3rrmEl <{ur 1"orr"urn. mirror) grqr vftGq oT qrfl {q-gTvi, qq rql q{vr d F}-d-fl c'-t

rd dr
s. qqrcfrq (reflection) osn oIq-q-f{ (refraction) i er<s ftM t

6 ft6fufo6 of isq-srsn-
q-gq oIeT (principal axis) q-rbtm's qfi (focal length)

z sfrfrq (image) ft+ f,di $? 3{HrS mn qrtrfum sfrftq (real and virhral image) t
sr<q ftMt

e. qrtco o:n qqiw d qqq q{ rmnr (reddish) rrii c-6-d +dT t?
e. utERI d 3rqtrf,{ (refraction of light) d fi+qq frM t

io. w 3rtkr?r dq of Et+-ff qt zo t-Eft-et B, d-fl t ffi q< w rq o1 vet uri fo +g
6l sfrfrq d;s t ro Qfro of qt w eit etrotiq 1r.r.1t ction) rff gra a1ffit

11. vs{ Bird <dq 1.oru"* mirror) 41 et"os qS Hrd dfuc. ftrs+t q-o-ttt fuqt sz tfi t t

12. ftrfi +{. 01 lD error o} cforTft-d dfuc t

13. ss +fl 41 v.io-s qfi (focal length) ara dfrr ffi erqet -2.0D * | qE fu-s e-or or
+n t?

14. sr6 3{16T{1 6-r {.r {-dr sd ftsr{ tdl B? o-RuI {f,r{c I

rs. sot or t'rq'H dra w ot eqt fcr t?
16. si[Rr d fre]c"r (dispersion of light) t eilc rqr srfli d?

rz. qsl d qrqrfl orrErcr t {<trjs (rainbow) ffii 01 cRtrT d qcsr$c 
t

ra. gE rca (Retina) d od lafuc t

rs. +Tffi (eye donation) d fu-{-frt{ qrfll 6r qH rcnT qGq?

20. ftrff ffiH qr* 6i 3Tmrvr fl-d +1 erim orar rfi-a drdT t, Tqi?

zr. qqf d q{qfa ofl?Ercr t E<*rSqTdt ftreTi T.€aT B?



22. q.r yifl r6rvr of fu-i"r ftffi e-q t Tf,{ft t d m vro i'ii t fre}R-f, d qrft t or<vt

fttu\?
23. frffifq (cataract) ot gq-qn Tqr t?
24. sfiEI <{u1 1.oru"* mirror) 6.r sqq}q ftfuq t

2s. qrq ia (human eye) ol qrqrq gE A fuc W fug ow f{m? fu€ i{ t ffi 1A qi

dfr t?
zo. f6-qq 3las o1 serqor t Er-sT$i fu sTiRro sc t crfi + s+g 'rg Efr"d crft of wae qr

5-.6 g$ d !-fi-n Eift t?
zz. fu'gq srTrq (Tyndall effect) d qrt t enc eqr qmi d?

ze. Sd d 3tl.d-il{ d ftqq ($nsll's law of refraction) ftM t

zs. q< Efu dv (hypermetropia) aor t? E-sot ft-qx"T dt o-G B?

go. qrgqrsd-q slr{f,{ (atrnospheric refraction) oi vrfl-ti t

31. rFFRr arg t r.so oTwd-{io. A o.iq' t citt 6Tdr B t oiq it v-orvr of qrd ?rqT drfi? uft org

t c-6lPT a1 qra 3X108 fi7M.s B r

ez. siftq qk t & frtfr fr'qteff of rerqcqz r.di it tnFd-{ri ffr B, qe fuapff fu-s EE q)s

e'fiB-d t oQTr {S fu-q c-6R q.trp6 fuut w soot t?
33. qqnn <ftT ErT {i chfrB o1 frrqf,rit ftMt
s4. +2.5 Dq -1.5 D e+rf,r S d iis qEsr wqd d {d Tn d t W r{q\-s-q at errm cq d.fi?

35 sTr{tr{ (refraction) 3nl olq-q-fo qroio (refractive index) o1 er-sr{A t

frd sf,ftq c{-{ (Long Answer type Questions)
1. go 2 tfio d-fi aq d er-+a-a <dut 1.on.ur. minor) t ro tfio o1 qft w rut qrat t,

d s tfro d-qT cftftE {fl-fr t, d on o1fu}-
3r- Edur o1 dr6-s' qft (focal length of mirror)

e- qfrftq at furfr (nature, position, size of image)

z. ffifuo qq ftsoft fuM-
er- eirq-f,qio stt e-mlu of qd (R.I and speed of light)
q- +{ anr sf,r=r e1-qeft (magnifrcation by lens)

3. ftf,c Ee ds (Near-sightedness or Myopia) c+r B? E-sd on"r neTr F-qnur d sqrq

tutui r

+. ffiq Eq"r + ftc Frqftfoa of cfutTB'd otfui-
s- gs erm (principal axis) q- qIEII d< (curvature centre)
q- gq pio-s (principal focus) e- qtm-s qft (focal length)

s. gfi 4 ffie 6q1 ftq 1q ffis Ef-fi-s (ft d er-+oa dq (concave lens) d 5t q 3{eT

(principal axis) d fllaq {sT B t frq t d-q of (fr rs tfto t t qfrfr'q ot r{fr, fuft,
sil6n dsfi qpqtiq (magnification) orc o1ftri t

6. To 2 ffis 6q1 Rq ro tfro std-s qft d soa dte d gce eta (principal axis) d
d*r-dE {sT tr lqq * a's at qft ts tfro Bt cfrfrq aft !-{fr, furfr, olrfi-R oQTI sTrqf{

sro dfuql



7 ftmfufon q{ fr;q!ft ftM-
3T- tq of rTfu (power of lens) q-qqc si fuqa qnqq (dense and rarer medium)

8. sd?r d-q am ri cftRlq d e-{fr, fuift oqn oTltfu'd srg-q (relative size) q-orgi, qR

frq of fu{h dq + s}6-s Fr cp+r s-mlRro d-q O A qta E}, cfrRq ot ftrqq erte (ray

diagram) fr <qH I

e. qiiq ia (Human eye) d <\si oi tsifu-d foji d e-Erirf,r t {{ osi A sqlq qil{g 
I

10. qr=Fr i'a (Human eye) of olidR-o. ri.d{t oi qfua qd-c dfuc t

11. s-reT dv (convex lens) am ftffi +E d frft'q ramt d cfrfrd sn ft-, Htrd q'Tsr{i 
I

rz \.o ofiffiqr{d d ffd or Erq M d ft\ $-q}T di srd voo s{q of qoor frqr
(radius of curvature) s.o ffo t t qR v6 vs gs <d"r * s.o fio o1 Efi qt ftrd t m

,6pq o1 furft ort{ s-{'ft sm dfrc t 16 rft annr fu ?re cfrfrq, frq t dfl drn eTsrql

c.cr?

13. frffi ordf,a d-s (concave lens) at st{E (fr (focal length) rs tff t I frE zni its t
ffir qft.rs rti fo {sd ErrT ftq ot dte't ro tfi qft qt cfrGq o1c-€fr,

sTri5n der urotiq 1m.*ritcation) Am dfug t

1a. ot$ a tfi onm.R o1 qE rs t+ u'lo-s 1t d er+ca qdq t zo tft of (ft c-t rd t t

q{"r t ffi qfr w q{ ol vsl qr} fu wE qfrfrE crq E}t cfrftq o1 u-qfr m+ emn
s6 dfuvt

rs. qgE dv (Far-sightedness or Hypermetropia) Tq'r t? qr{fu dq vsq ili d A
orr"r ftfuc r tfiq' Grt-{q Ersr qq-fig} fo w s}s 61 fq-{Rur syt drir dfr fuqr crT EtFiI
6i

ro. oiq d &-q Ertr yid ffil$ d fr'e\c"T (dispersion) a1 c'fu-m of q'fue qq-flI{i 
I

Unit-V
Natural Resources

r. Frqfufuo t s-ef or qrgrqftfi dtd t-
(el) fi+w {u< (e) *< uuf (v) tprflu u-uf (E) TrMq v-qf

2 qrdi-s or gw er++o t-
(er)orf-q sr$d-ffi-{s (e') e$h-+r (e){etc (q)fr+{

3 dq frfurf,I A ftftIE sqra t-
(q)do (e) q{ (ulq.ftA 1E1gfiu f*

+. rrqr ord (eq.rg) d-f,fl fo-s q{ cnrq E{ efr-

(er) rsaz (e) rsas (s) tsso (<) tsss

s. ftqfrfua n't dlq d-s qrar 6qf *d ol v{rflET T€l t-
(er)ao-$ (e) frfl .tfl (s)ilFr+tq 6qf 1<lotuer

6. frq t t ot{ 3t-Sq ffiq q-qTsf B_

(er)om'o (q) wrft-6 (s)srtrdrd (s)do1$

z. *q q'sd t u-of or ur1 ut'a aoi t-
(q)a+ (e) S{ (s)crffiq s-sf (E)qtm.S s-qf



B. S{rih.r qfimuT 6{d qd r-(sur o1 w-qn of w so-fi t-
(O frqq Ff,{ (s) dtuo. effiq-< ci,r (frette)

(q) #t (o) eir (9 (0 flf t aX c-frt
g. qqtq-{q oi c-dri d ft\ d-{ 'n' t emrq B-

(o) aq ecu}.r, gq, s,'qu}.T, g-r-+mrT @ gt: wdm, g-{-trm"r, oq sqfrrr

O grfmq, oq sqfrq, gr: sqdFr (0 oq sqqtr, g_{trf"r, gl: wdrr
10. ca ftgf, or v6n<q o{i A frc crfi o1 fu-s uqf or sqdrr fusr qm t-

(o) fuIfrs uoi or (q)'rFrs uql oI
(,T) E-{i t (o) eih (s) <tcf oT (s) E-{n t oE r$t

eft ag st-tq qrt (Very Short Answer type Questions)
1. w{o (Plankton) rqr di e?

2. cqc Or Tn qrq Grf,r(, t

e. dt s-si (solar energy) Et a-d + ffi t?
4 ftrqdr onEi-tr{ (Chipko movement) o1 gwm E-6r gg?

s. qa fiqrrmr(Aquarium) ft;q e6'R ot crfuiz B?

6. oflfi-owfq {trc (non-renewable fuels) fut q,-{i t?
z. ett qo-t (solar cooker) it o.iq o1 €-e ot ae-c qqt a.nql qat t?
s q{q $qf (wind power) d et t otc-qT tYT 3t,r"ft t?
g. fla-q t{T o) q-o-fr or tvr (country of the winds) o-a qrot t?
1s. ;TImq uof (nuclear energy) fu-s orqq vsq +fr t?
rr. rrg'ft-o rls (natural gas) d gw erqq-q ftfuE t

rz er+ffiq ulil (non-renewable energy) d d u\ot d crq ftfuc t

13. ' EFr€ qi-q-fl fu-s q{ 3rqflff Tfi?
r+ offi (coliform) rw t?
rs qrfr qrqfiq tr d frc dt-{-S n-fl onqqrfi t?
ro. Nrc c{f, d erq (depletion of ozone layer) d ffrc 6t{ ttl T$tr{FI sm-{qre qFtr qrflt

B?

rz. uoi d a ffifi u)-dt d qTq'ftfucr

r8 qrqliq (Biogas) t eilq qql srsi B?

1e. erdts (biogas) d E-+i d cTq ftfo\ t

20. {rfuotq u-of (nuclear energy) d sc t sqm.r di srd d ffiii d qq ftfuc I

zr. {ovco{ofio (UNEP) or {sI ilc ftfus t

22. mf A frqnq *rit or cH ftfuqt
zg. Sov{ofro (CNG) ot gu ttr ftfor t

z+. qRria (ecosystem) o) qfutfua dfrl t

25. tsHrq-.r (producer) aPn sqlfiflr (consumer) t eqr srBqrq B?

zo. ffitc qro (Ozone layer) fu-s ftfow (radiation) t gefr a1 gie'n a-{fr t?
27. wfflur A frtd d 3r$q qcot (abiotic components) d ctq e-drctr t

28. orTdr tff ffi{ rr*q SrrTTI fu-{'frts o-d d ffrg fuq qrot t?



2e. Tqfwq (environment) rot t?
30. GeT ri{e{q (water conservation) d frtd q} qrffi{ dfut d clq ftfuC?

sr. um *juar (food chain) fttt ddi t?
32. ds qral (Bio-Mass) fttt a-di t?

dg vt.ftq srt (Short Answer type Questions)
r. SI< ffit (Solar cells) A frft< sqqt'q qorri 

t

2. Tf,.fi.S.(L.P.G.) of era +r< qdi sqsl qrdr B?

.. ffq ftffiowr emRre (biodegradable waste) oen 3r+q ffif,{q erqFre (non-

biodegradable waste) cEr$ t s-a-fl"r sB-o sir< qorqi 
t

4. 5q: zrtr'q (recycling) Tqr B? s{-d fuc Eq YqI al q+-t B?

5. frrr+\ 3n+m{ i tri o\ qql fuqrqr B? sE dfuq I

o. errftq ffi T{i ot fu-s nors e-q}'.r ari i?
7. Grcr trT EqTi crftt t rql qrs t?
s. BHrr6 G)roducer), svrimr (consumer) cert oTqEretr (decomposer) o] wq dfuC t

e fiffiq fuors (sustainable development) t urv aq srs'i B?

ro. ftrs t orEo, omq 6-r sGn<"T qqfq-r'T rig-f,{ o1 mrs't + fus !-oR serqo t?
r. 'qqt dw ssitrr d/'vs 6sFr of gfu dfuvt
rz. wRfuifuo da (Ecosystem) d s-qf t qqftrcr {s sfrctd or ftqq ?m t?
13. sdq fic at Tqr ftM d-ft t?
r+. orra esf (Acid rain) qqT i? erq qsf or vo Erfror{o qrTls ftfuc t

1s. 3rFr iDT{r ftqerc (waste disposal) of strsr 6q .E{i t rqr *qqm ?FT is-6-t d? <} guro
fttort

ro. sti qc Sq crq fr-+q or .{qerq 4ii 6r+ 
"rRC? 

ot€ fr 6-q"T frfo! t

17. z6i+m oerT kifrrqq fe eT-qfd-o €srr=ii d fri_oT:f sq-qtT of enqrq-d-dr crit t?
re. qrffiq f4qo-et (Nuclear fission) oi qforrfut dftc t

rg. qqr d'n qfr Eq frffi g6 c\ft wt (trophic level) d q'fi fri oi qqrq or i?
zo. qRria ti arcfifdt (decomposers) 61 qq1 tfi'ot B?

frd B-f,tq uw (Long Answertype Questions)
1. 0{16r-{ ajwor (food chain) tn} qRqTE'd E{i gE Eq-d tfi m a eq-flr{n?

z. qc $irs{q d ei, d ftqm) 3fl-+tr{ (Chipko Movement) 41 nfu+r or sds dfug?
e. ffic qtr (ozone layer) tnl fiqc-Ent Tqi o-6i d? s-<r-flrT tfi sqsrcc r

+. qa .{*rq (water conservation) d scr+i or fuqd soln dfuc t

s. dv (dam) Tni t vev-q rqfqioftq $F-srq fi sTt6-ii-r' dfuc t

o. rrgft-o r{srtrii a evrdf,q Eqq},T t 3TIs r.II srfli t? crftrfi risrq-n d eqccq sqfrq
n di{-dh S qrct or tqn Ts{r 

"rRqrz. e=it 01 enq (forest fire) t ffo-frfrutn (biodiversity) ol oTst Stnsn etor t t se o.f t

s. frftq r+rq d fiqrw ffi (fossil tuels) oi ffi qn6o,



e. fta qff sd-{f,r t dtfi-dqr Sror 96{ (box shaped solar cooker) 01 rir+fl s ord frB
ot snfq aifr\ |

ro. .r.n d qd r{sq o} fu-s c-mTq tor qr e-o-or t? Hfusr{ q"ic otfrri r

11. q{q rfr (windmill) d o.rd 6{i d Rrdid ai HE a1fut r

rz. qsf qa *iq-Errl (rain water harvesting) t r+r f,rfl{ t? 3rqi e}e t esi qd riq-{"T tg
srrflfr qd sr$ fr'Eqi or vod-e dfucr

ra. ffq tls (Biogas) t eqr' orftcrq t? co +s rls riria (Biogas plant) or q+en ente
qka quf-q dftrr

r+. s-si d cr{fu6 riersr-n d r{sem i-g .ilc .{ci fr"fl{ frfuc I

rs. s-qi d qnEfto dlttt (conventional sources of energy) t enc rqr {Tfli B? E-r-d
s{Er"r i-g vqq gsrsi r

ro. frt Etw (solar cooker) oT rirq{r ente aqEq aen €}s gfi d sqfr.r d an+, arfr neTr

ftqr<ft or a-de olfucr
17. ffi qEqrsd ii srHr{ qEo d-$ {r-ft t? gsor crffrqF-m Hq-fiirT frfocl oM{ c-{f, d

rre al se dffir
16. nrffiq v-of (nuclear energy) qqr t? nffiq u-i 6 gq-+q nw gsvdrrr o'r sqsr$l

3rti rrffiq rqf ig u-gm di qrd A dcit d crq ftfucl
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